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GUJARAT TECHNOLOGICAL UNIVERSITY
Diploma Engineering - SEMESTER-IV « EXAMINATION — WINTER ¢ 2014

Subject Code: 342903 Date: 01-12-2014
Subject Name: Fabric Structure - 11
Time: 02:30 pm - 05:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

(a) Draw Design and cross section for the following (Any Two)
(i) Twill back Velveteen (iii) Plain Velveteen
(i) Corded velveteen
(b) Explain how loops are produced on the surface of the fabric in terry pile
weaving?

(a) Draw Design for the following (Any Two)
() Bird’s eye effect (iii) Hounds Tooth pattern
(if) Continues line effect
(b) Give the classification of color and weave effect.
OR
(b) Explain light theory of colour.

(@) Draw Design, Draft and Peg-plan for the following (Any Two)
(i) Open width double cloth (iii) Centre stitch double cloth
(if) Self stitch double cloth
(b) State name of the different tying or stitching method use to produce double
cloth and explain any one in briefly.

OR
(@) Draw Design, Draft and Peg-plan for the following (Any Two)
(i) Counter leno (iii) Simple Leno

(i) Twill leno
(b) Explain with neat sketch cross shed formed in leno weaving.

(@) Draw Designs for the following
(i) Damask (using suitable motif) (ii) Brocade (Using suitable motif)
(b) Find out the cover factor of a cloth form the following data.

Warp count (Ne) : 64s Ends/Inch : 112
Weft count (Ne) : 36s Pick/Inch : 84
OR

(@) Draw Designs for the following
(i) Weft Tapestry (i) Loose back toilet quiets.
(b) State the factor affecting jacquard design preparation.

(@) Draw Design and cross section of following (Any Two)
() 3 pick terry (ii1)3 pick to 1 wire velvet
(ii) 4 pick terry (both side)
(b) State the difference between velvet and velveteen.
OR
(@) Draw Design, Draft and Peg-plan for the following (Any Two)
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(b)

(1) Warp wadded backed structure (iii) Weft backed structure
(if) Warp backed structure.

State the difference between warp backed and weft backed cloth. 04
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